
7310070

0412021

01316018210400

Order-nr. Description Number

0131601 freest. divider COMFORT 120cm frame 1
0412021 plate for T-clamp 48x48mm 4
7310070 coach bolt m10x70 galv. 2
8210400 self locking capped nut M10 galv. 2

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0131600-O

Unit: mm

Date: 21-9-2015

freestall divider calves COMFORT 120cm

UK



 ** 
 ** 

 ca.150 

 min. 1400 

 5
98

 

 ca. 1150 

 c
a.

 4
50

 

 1193 

 1
50

* 

 1101 

150+

P=0

2-3%

 ca. 2500 

 600  min. 90 

1015600

1021075

0421015

0428100

1015600

1015600

7310040
8210100

1111450

0409010

1106200

0408020
0131600

0510800
0508120

*    Measured from the top of the bedding
**  A safe distance: less then 150 or over 400

Order-nr. Description

0131600 freestall divider calves COMFORT 120cm
0408020 cross clamp 48mmx60mm
0409010 strap clamp 48x48mm
0421015 tube clamp coupling 48mm
0428100 angle support 10x14cm
0508120 Dunlomat 120cm wide, length in m.
0510800 aluminium mounting profile, length 3 m
1015600 tube 48mm, length 6m, galvanized
1106200 stopper 60mm

1111450 floor anchor, inox A4 - M16x120
7310040 coach bolt M10x40 galv.
8210100 hexagon nut M10 galv.

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0131600-A

Unit: mm

Date: 28-6-2016

freestall divider COMFORT 120

UK



7310070

0412021

0131611
8210400

Order-nr. Description Number
0131611 freest. divider COMFORT 140cm,frame only 1
0412021 plate for T-clamp 48x48mm 4
7310070 coach bolt m10x70 galv. 2
8210400 self locking capped nut M10 galv. 2

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0131610-O

Unit: mm

Date: 21-9-2015

freestall divider calves COMFORT 140cm

UK



 * 
 * 

 150 

 min. 1600 

 6
48

 

 1350 

 
50

0 

 1393 

 1
62

 

 1294 

150+

P=0

2-3%

 2500 

 600-700  min. 90 
1015600

1021105

1015600

0421015

1111250
0409010

1106200

0408020

*  A safe distance: less then 150 or over 400

item no. description
0408020 cross clamp 48mmx60mm
0409010 strap clamp 48x48mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized
1106200 stopper 60mm
1111450 floor anchor, hot dip galv. - M16x120

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0131610-A

Unit: mm

Date: 14-11-2016

freestall divider COMFORT 140

UK



IN BEHANDELING

7310070

0412026

0131611

8210100

Order-nr. Description Number
0131611 freest. divider COMFORT 140cm,frame only 2
0412026 plate for four-way clamp 48x48x48mm 4
7310070 coach bolt m10x70 galv. 4
8210100 hexagon nut M10 galv. 4

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0131615-O

Unit: mm

Date: 21-9-2015

freestall divider calves COMFORT 140/140

UK



 6
52

  1350 

 1354  1402  150  150 

 
50

0 

   
15

0 

 1350 

 3000-3100 

150+

P=0

2-3%

 2500 

 600-700  min. 90 

1015600
0408020

1021105

0409010

0421015

1106200
1111250

1015600

item no. description
0408020 cross clamp 48mmx60mm
0409010 strap clamp 48x48mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized
1021105 support post 60mmx105cm floor mounted
1106200 stopper 60mm
1111250 floor anchor, hot dip galv. - M16x120

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0131615-A

Unit: mm

Date: 5-12-2016

freestall divider COMFORT 140/140

UK



7310070

0413016 0131622

8210400

Order-nr. Description Number
0131622 freest. divider COMFORT 165cm,frame only 1
0413016 plate for T-clamp 48x48mm, heavy version 4
7310070 coach bolt m10x70 galv. 4
8210400 self locking capped nut M10 galv. 4

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0131620-O

Unit: mm

Date: 22-9-2015

freestall divider heifers COMFORT 165cm

UK



 * 
 * 

 250 

 min. 2000 

 8
00

 

 1642 

 1650 

 
70

0 

 2
00

 

 1545 

150+-180+

P=0

2-3%

 2500 

 800-900  min. 90 

0421015
1015600

1021120

0421015

1021120

1015600

1111250

0409010

1106200

0408020

*  A safe distance: less then 150 or over 400

*    Measured from the top of the bedding
**  A safe distance: less then 150 or over 400

item no. description
0408020 cross clamp 48mmx60mm
0409010 strap clamp 48x48mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized
1021120 support post 60mmx120cm floor mounted
1106200 stopper 60mm
1111450 floor anchor, hot dip galv. - M16x120

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0131620-A

Unit: mm

Date: 5-12-2016

freestall divider COMFORT 165

UK



IN BEHANDELING

7310070

0412026

0131622

0131622

8210100

Order-nr. Description Number
0131622 freest. divider COMFORT 165cm,frame only 2
0412026 plate for four-way clamp 48x48x48mm 4
7310070 coach bolt m10x70 galv. 4
8210100 hexagon nut M10 galv. 4

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0131625-O

Unit: mm

Date: 22-9-2015

freestall divider heifers COMFORT165/165

UK



 2500 

 800-900 
 min. 90 

1015600

1015600
1021120

0409010

1106200
1111250

0408020
0421015

 170 

 8
00

 

 1605 

 1650 

 1653  170 

 
70

0 
 2

00
 

 1650 

 3600 

150+-180+

P=0

2-3%

*    Measured from the top of the bedding

item no. description
0408020 cross clamp 48mmx60mm
0409010 strap clamp 48x48mm
0421015 tube clamp coupling 48mm
1015600 tube 48mm, length 6m, galvanized
1021120 support post 60mmx120cm floor mounted
1106200 stopper 60mm
1111250 floor anchor, hot dip galv. - M16x120

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0131625-A

Unit: mm

Date: 6-12-2016

freestall divider COMFORT 165/165

UK



IN BEHANDELING

7112090

0413031 0131631

8212100

Order-nr. Description Number
0131631 freest. divider COMFORT 175cm,frame only 1
0413031 plate for T-clamp 60x60mm, heavy version 4
7112090 hexagon-head bolt m12x90 galv. 4
8212100 hexagon nut M12 galv. 4

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0131630-O

Unit: mm

Date: 21-9-2015

freestall divider heifers COMFORT 175cm

UK



 * 

 * 

 250 

 min. 2200 

 8
20

 
 1734 

 ca. 1800 

 2
30

 
 1629 

150+-200+

P=0

2-3%

 2500 
 900-1000 

 min. 90 

0421020
1020600

0409020

0409040

1020600

1015600

1026130
1106250
1111450

*  A safe distance: less then 150 or over 400

*    Measured from the top of the bedding
**  A safe distance: less then 150 or over 400

item no. description
0409020 strap clamp 48x60mm
0409040 strap clamp 76x60mm 
0421015 tube clamp coupling 48mm
0421020 tube clamp coupling 60mm
1015600 tube 48mm, length 6m, galvanized
1020600 tube 60mm, length 6m, galvanized
1026130 support post 76mmx130cm floor mounted
1106250 stopper 76mm

1111450 floor anchor, inox A4 - M16x120

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0131630-A

Unit: mm

Date: 5-12-2016

freestall divider COMFORT 175

UK



IN BEHANDELING

7112090
0413036

0131631

0131631

8212100

Order-nr. Description Number
0131631 freest. divider COMFORT 175cm,frame only 2
0413036 plate for four-way clamp 60x60x60mm 4
7112090 hexagon-head bolt m12x90 galv. 4
8212100 hexagon nut M12 galv. 4

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0131635-O

Unit: mm

Date: 22-9-2015

freestall divider heifers COMFORT175/175

UK



 2200-2300 
 900-1000 

 min. 90 

1020600

0421020

1026130

0407050

1106250
1111250

1015600

0409040

 285 

 8
20

 

 1684 

 1700  1700 

 1800 

 1744  285 

 2
30

 

 1800 

 3900-4000 

150+-200+

P=0

2-3%

*    Measured from the top of the bedding

item no. description
0407050 shoulder rail strap clamp 48x60 mm
0409040 strap clamp 76x60mm 
0421015 tube clamp coupling 48mm
0421020 tube clamp coupling 60mm
1015600 tube 48mm, length 6m, galvanized
1020600 tube 60mm, length 6m, galvanized
1026130 support post 76mmx130cm floor mounted
1106250 stopper 76mm
1111450 floor anchor, hot dip galv. - M16x120

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt. 
Aan de gegevens op deze tekening  kunnen geen rechten worden ontleend.

Number: 0131635-A

Unit: mm

Date: 5-12-2016

freestall divider COMFORT 175/175

UK


